Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2021-2022 Former Students

Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
99999999 - Undeclared Ma	jor										
Undeclared	1	7.1%	6	42.9%	2	14.3%	9	64.3%	5	35.7%	14
Total	1	7.1%	6	42.9%	2	14.3%	9	64.3%	5	35.7%	14

Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2021-2022 Former Students

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students	
04090100 - Architectural T	echnology	Technici	an									
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
11020100 - Computer Programming/Programmer, General												
Non-returner	0	0.0%	3	60.0%	2	40.0%	5	100.0%	0	0.0%	5	
Total	0	0.0%	3	60.0%	2	40.0%	5	100.0%	0	0.0%	5	
11080100 - Web Page, Digital/Multimedia and Information Resources Design												
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
11100200 - System, Netwo	rking, and	LAN/WAI	N Manage	ment/Man	ager							
Graduate	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1	
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1	
11100300 - Computer and	Information	n System	s Security	/Auditing/	Informatio	n Assura	nce					
Graduate	1	33.3%	2	66.7%	0	0.0%	3	100.0%	0	0.0%	3	
Non-returner	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3	
Total	1	16.7%	5	83.3%	0	0.0%	6	100.0%	0	0.0%	6	
12050300 - Culinary Arts/0	hef Trainin	ıg										
Non-returner	1	8.3%	6	50.0%	3	25.0%	10	83.3%	2	16.7%	12	
Total	1	8.3%	6	50.0%	3	25.0%	10	83.3%	2	16.7%	12	
15040300 - Electromechan	ical/Electro	omechani	ical Engin	eering Ted	hnology/T	echnicia	า					
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
15050100 - Heating, Ventil	ation , Air C	Condition	ing and R	efrigeratio	n Technol	ogy/Tech	nician					
Graduate	0	0.0%	12	100.0%	0	0.0%	12	100.0%	0	0.0%	12	
Non-returner	0	0.0%	16	72.7%	0	0.0%	16	72.7%	6	27.3%	22	
Total	0	0.0%	28	82.4%	0	0.0%	28	82.4%	6	17.6%	34	
15061300 - Manufacturing	Engineerin	g Techno	ology/Tec	hnician								
Graduate	0	0.0%	16	84.2%	0	0.0%	16	84.2%	3	15.8%	19	
Non-returner	2	11.8%	13	76.5%	0	0.0%	15	88.2%	2	11.8%	17	
Total	2	5.6%	29	80.6%	0	0.0%	31	86.1%	5	13.9%	36	
15100100 - Construction Engineering Technology/Technician												
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
15130200 - CAD/CADD Dra	afting and/o	r Design	Technolo	gy/Techni	cian							
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	

Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2021-2022 Former Students

Technical Students	Additi High Educa and I Emplo	ner ntion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
46030100 - Electrical and Power Transmission Installation/Installer, General													
Graduate	0	0.0%	8	88.9%	0	0.0%	8	88.9%	1	11.1%	9		
Non-returner	0	0.0%	11	64.7%	2	11.8%	13	76.5%	4	23.5%	17		
Total	0	0.0%	19	73.1%	2	7.7%	21	80.8%	5	19.2%	26		
46030200 - Electrician													
Non-returner	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2		
Total	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2		
46050300 - Plumbing Technology/Plumber													
Non-returner	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2		
Total	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2		
47060400 - Automobile/Automotive Mechanics Technology/Technician													
Non-returner	0	0.0%	0	0.0%	3	100.0%	3	100.0%	0	0.0%	3		
Total	0	0.0%	0	0.0%	3	100.0%	3	100.0%	0	0.0%	3		
47060500 - Diesel Mechan	ics Techno	logy/Tech	nnician										
Graduate	1	5.9%	13	76.5%	0	0.0%	14	82.4%	3	17.6%	17		
Non-returner	12	23.1%	17	32.7%	19	36.5%	48	92.3%	4	7.7%	52		
Total	13	18.8%	30	43.5%	19	27.5%	62	89.9%	7	10.1%	69		
48050100 - Machine Tool	Гесhnology	//Machinis	st										
Graduate	1	25.0%	3	75.0%	0	0.0%	4	100.0%	0	0.0%	4		
Total	1	25.0%	3	75.0%	0	0.0%	4	100.0%	0	0.0%	4		
48050800 - Welding Techn	ology/Weld	der											
Graduate	0	0.0%	8	66.7%	3	25.0%	11	91.7%	1	8.3%	12		
Non-returner	2	7.7%	17	65.4%	3	11.5%	22	84.6%	4	15.4%	26		
Total	2	5.3%	25	65.8%	6	15.8%	33	86.8%	5	13.2%	38		
51090400 - Emergency Me	dical Tech	nology/Te	chnician	(EMT Para	medic)								
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
52020400 - Office Manage	ment and S	Supervisio	n										
Non-returner	1	14.3%	5	71.4%	1	14.3%	7	100.0%	0	0.0%	7		
Total	1	14.3%	5	71.4%	1	14.3%	7	100.0%	0	0.0%	7		

Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major for 2021-2022 Former Students

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Undeclared	1	7.1%	6	42.9%	2	14.3%	9	64.3%	5	35.7%	14
Total	1	7.1%	6	42.9%	2	14.3%	9	64.3%	5	35.7%	14
Total Technical Students											
Graduate	3	3.8%	63	80.8%	3	3.8%	69	88.5%	9	11.5%	78
Non-returner	19	11.0%	97	56.1%	35	20.2%	151	87.3%	22	12.7%	173
Total	22	8.8%	160	63.7%	38	15.1%	220	87.6%	31	12.4%	251
Total Technical/Tech-Prep	Students										
Graduate	3	3.8%	63	80.8%	3	3.8%	69	88.5%	9	11.5%	78
Non-returner	19	11.0%	97	56.1%	35	20.2%	151	87.3%	22	12.7%	173
Total	22	8.8%	160	63.7%	38	15.1%	220	87.6%	31	12.4%	251
Grand Total											
Graduate	3	3.8%	63	80.8%	3	3.8%	69	88.5%	9	11.5%	78
Non-returner	19	11.0%	97	56.1%	35	20.2%	151	87.3%	22	12.7%	173
Undeclared	1	7.1%	6	42.9%	2	14.3%	9	64.3%	5	35.7%	14
Total	23	8.7%	166	62.6%	40	15.1%	229	86.4%	36	13.6%	265